4.? Opt)'miﬁwﬁi‘@ Pr‘ab(am_;

minimiging or maximizing function over finite or
infroite interva |
Ex1. A /ong rectangular shect of metal 1210, wide is to be
made into A rain gutter by turning vp fwe sides sothat theyare
perpendicular fo the sheef. How many inches shewld be r‘urna/
dp in order gve the gutter i Greatest capac/ ﬁl >
Ans. b= aumber of Tnches {urned YP on cach side
width of the base s = /12-2 X
The capacity is greatest when the qrea of the rectangle
has /ts gre:a%esf valve  For) =3¢ (-2 )= areq |
OS X = ¢ (losed interval
f((i,): 4 (3 -2 )critical point X =73 F"; - £
the point X =3 is maxpoint Fl)=e, fG)=o f(:)=1v
> Absivte max X =3 I} fellows that 2 inchec sheold
be turned vp fo achicve max. oa/x;civ‘y ,
Guidelines for solving o/a—fimjé,qfhbn prob lem .
# Read the preblem several times.
o SKetfch d/‘qgmm.r and [abe/ ?Wn‘ﬁ tes and unkmswns
e Find a Fermolg for the qoqnﬁf" t be mxim;f”/ or minimi zet/
o Determine which variable ist be max or min and
.cxprcs.c this variable as g Fonction o omc variable
Find the interval of fomblc valves and critical poinfc.

Find Abs  max or min.
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